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  Questions : 1 to 90   

Direction (Q. 1 to 10) 

In each of the following figures number are 

written according to some patterns one 

number is missing. Find the missing 

number that replaces the question mark (?)

1. 

(1) 37  

(2) 40 

(3) 21  

(4) 18 

2. 

(1) 8  

(2) 5 

(3) 6  

(4) 9 

3. 

(1) 11  

(2) 20 

(3) 30  

(4) 39 

( 3 ) 

 

PART – I ¼¼¼¼HkkxHkkxHkkxHkkx – I½½½½ 
MENTAL ABILITY TEST 

ckSf)dckSf)dckSf)dckSf)d    ;ksX;rk ijh{k.k;ksX;rk ijh{k.k;ksX;rk ijh{k.k;ksX;rk ijh{k.k 
      

In each of the following figures number are 

written according to some patterns one 

number is missing. Find the missing 

number that replaces the question mark (?) 

  funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 1    ls ls ls ls 10
uhps nh xbZ izR;sd vkd`fr esa ,d fuf’pr Øe 
vuqlkj dqN la[;k,¡ fy[kh xbZ gSaA buesa ls ,d 
la[;k yqIr gSA yqIr la[
fpg~u ¼\½ ds LFkku ij mi;qDr gksA

 

  

1. 

(1) 37 

(2) 40 

(3) 21 

(4) 18 

 

  

2. 

(1) 8 

(2) 5 

(3) 6 

(4) 9 

 

  

3. 

(1) 11 

(2) 20 

(3) 30 

(4) 39 

A 

P. T. O. 

       Time : 1½ Hours 

10½½½½ 
uhps nh xbZ izR;sd vkd`fr esa ,d fuf’pr Øe 
vuqlkj dqN la[;k,¡ fy[kh xbZ gSaA buesa ls ,d 
la[;k yqIr gSA yqIr la[;k Kkr djsa tks iz’u 

½ ds LFkku ij mi;qDr gksA 
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4. 

 

(1) 512  

(2) 864 

(3) 256  

(4) 1024 

5. 

(1) 26  

(2) 86 

(3) 2  

(4) 13 

6. 

(1) 541  

(2) 937 

(3) 678  

(4) 422 

7. 

(1) 84  

(2) 164 

(3) 82  

(4) 188 

( 4 ) 

 

  

4. 

(1) 512 

(2) 864 

(3) 256 

(4) 1024 

 

  

5. 

(1) 26 

(2) 86 

(3) 2 

(4) 13 

 

  

6. 

(1) 541 

(2) 937 

(3) 678 

(4) 422 

 

  

7. 

(1) 84 

(2) 164 

(3) 82 

(4) 188 
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8. 

(1) 8 (2) 6

(3) 12 (4) 9

9. 

(1) 32 (2) 10

(3) 12 (4) 15

10. 

(1) 166 (2) 58

(3) 12 (4) 21

11. If the word ‘TEACHER’ can be 

written as ‘UFBDIFS’ then how 

can the word ‘STUDENT’ be 

written in the code ? 

(1) TUVEFOU  

(2) UGDEJGT 

(3) UVWFGPV  

(4) TNEDUTS 

12. If ‘MARCH’ is coded as 41938, 

then how can ‘JULY’ be coded

 

(1) 3271  

(2) 1337 

(3) 52049  

(4) 30827 

( 5 ) 

 

 

6 

9 

  

8. 

(1) 8 

(3) 12 

 

10 

15 

  

9. 

(1) 32 

(3) 12 

 

58 

21 

  

10. 

(1) 166 

(3) 12 

If the word ‘TEACHER’ can be 

written as ‘UFBDIFS’ then how 

can the word ‘STUDENT’ be 

  
11. ;fn ‘TEACHER’

‘UFBDIFS’ 
‘STUDENT’ dks blh dksM esa fdl izd
fy[kk tk ldrk gS 
(1) TUVEFOU

(2) UGDEJGT

(3) UVWFGPV

(4) TNEDUTS

If ‘MARCH’ is coded as 41938, 

n how can ‘JULY’ be coded ? 

  
12. ;fn ‘MARCH’

gS] rks ‘JULY’
gksxk \ 
(1) 3271 

(2) 1337 

(3) 52049 

(4) 30827 

A 

P. T. O. 

 

(2) 6 

(4) 9 

 

(2) 10 

(4) 15 

 

(2) 58 

(4) 21 

‘TEACHER’ 'kCn dks 
 fy[kk tkrk gS] rks 
dks blh dksM esa fdl izdkj 

fy[kk tk ldrk gS \ 
TUVEFOU 

UGDEJGT 

UVWFGPV 

TNEDUTS 

‘MARCH’ 'kCn dk dksM ‘41938’ 
‘JULY’ dk dksM fdl izdkj ls 
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Direction (Q. 13 to 17) 

In the following series find the number 

which is wrong according to the series. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 13    ls ls ls ls 17½½½½    
uhps nh xbZ Ük`a[kyk esa og la[;k Kkr djas tks 
Ük`a[kyk ds vuqlkj xyr gSA 

13. 7, 26, 63, 126, 215 

(1) 26  

(2) 126 

(3) 215  

(4) 63 

  
13. 7, 26, 63, 126, 215 

(1) 26  

(2) 126 

(3) 215  

(4) 63 

14. 3, 8, 15, 24, 35, 39 

(1) 15  

(2) 35 

(3) 8  

(4) 39 

  
14. 3, 8, 15, 24, 35, 39 

(1) 15  

(2) 35 

(3) 8  

(4) 39 

15. 145, 122, 99, 82 

(1) 145  

(2) 99 

(3) 83  

(4) 122 

  
15. 145, 122, 99, 82 

(1) 145  

(2) 99 

(3) 83  

(4) 122 

16. 5, 15, 30, 55, 91 

(1) 91  

(2) 55 

(3) 30  

(4) 15 

  
16. 5, 15, 30, 55, 91 

(1) 91  

(2) 55 

(3) 30  

(4) 15 

17. 0, 2, 3, 5, 8, 10, 15, 17, 26 

(1) 26  

(2) 17 

(3) 8  

(4) 5 

  
17. 0, 2, 3, 5, 8, 10, 15, 17, 26 

(1) 26  

(2) 17 

(3) 8  

(4) 5 
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Direction (Q. 18 to 20) 

In a certain code language : 

(a) ‘pit dar na’ means ‘you are good’ 

(b) ‘dar tols pa’ means ‘good and bad’ 

(c) ‘tim na tols’ means ‘they are bad’ 

  funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 18    ls ls ls ls 20½½½½    
,d fuf’pr dksM Hkk"kk esa % 
(a) ‘pit dar na’ dk vFkZ ‘you are good’ gS 
(b) ‘dar tols pa’ dk vFkZ ‘good and bad’ gS 
(c) ‘tim na tols’ dk vFkZ ‘they are bad’ gS 

18. In that language which word 

written for ‘they’ ? 

(1) pa (2) pit 

(3) tim (4) na 

  
18. ml Hkk"kk esa tks 'kCn ‘they’ ds fy, fy[kk 

x;k gS % 
(1) pa (2) pit 

(3) tim (4) na 

19. In that language, which word 

written for ‘and’ ? 

(1) pa  

(2) pit 

(3) dar  

(4) tols 

  
19. ml Hkk"kk esa tks 'kCn ‘and’ ds fy, fy[kk 

x;k gS % 
(1) pa  

(2) pit 

(3) dar  

(4) tols 

20. In that language, which word 

written for ‘you’ ? 

(1) dar  

(2) pa 

(3) tols  

(4) pit 

  
20. ml Hkk"kk esa tks 'kCn ‘you’ ds fy, fy[kk 

x;k gS % 
(1) dar  

(2) pa 

(3) tols  

(4) pit 

Direction (Q. 21 to 25) 

In each of the following letter series 

some of the letters are missing which are 

given in that order as one of the 

alternatives below it. Choose the correct 

option from the options given below. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 21    ls ls ls ls 25½½½½    
fuEufyf[kr v{kj Ük`a[kyk esa ls izR;sd esa dqN 
v{kj xk;c gSa] tks ml Øe esa uhps fn, x, 
fodYiksa esa ls ,d ds :i esa fn, x, gSaA uhps fn, 
x, fodYiksa esa ls lgh fodYi pqusaA 

21. ac___cab___baca___aba___acac. 

(1) acbc  

(2) aacb 

(3) abab  

(4) bbaa 

  
21. ac___cab___baca___aba___acac. 

(1) acbc  

(2) aacb 

(3) abab  

(4) bbaa 
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22. a__cdaab__cc__daa__bbb__ccddd. 

(1) acbcc  

(2) bbcad 

(3) bbcda  

(4) bbdac 

  
22. a__cdaab__cc__daa__bbb__ccddd. 

(1) acbcc  

(2) bbcad 

(3) bbcda  

(4) bbdac 

23. a___cb ____ac_____b ____ bc 

(1) acbc  

(2) bacc 

(3) bbaa  

(4) bcaa 

  
23. a___cb ____ac_____b ____ bc 

(1) acbc  

(2) bacc 

(3) bbaa  

(4) bcaa 

24. a____aab____aa___b___aa___b 

(1) ababb  

(2) bbaaa 

(3) abbba  

(4) ababa 

  
24. a____aab____aa___b___aa___b 

(1) ababb  

(2) bbaaa 

(3) abbba  

(4) ababa 

25. mn___no___qop____rspq____st 

(1) pqor  

(2) rspq 

(3) porq  

(4) opqr 

  
25. mn___no___qop____rspq____st 

(1) pqor  

(2) rspq 

(3) porq  

(4) opqr 

26. Introducing a man, a woman said, 

“His wife is the only daughter of 

my father”. How is that man 

related to the woman ? 

(1) Brother 

(2) Son 

(3) Husband 

(4) Father in law 

  
26. ,d iq#"k dk ifjp; nsrs gq, ,d efgyk us 

dgk ^^mldh iRuh esjs firk dh bdykSrh 
csVh gS** og iq#"k efgyk ls dSls lacaf/kr 
gS \ 
(1) HkkbZ 
(2) iq= 
(3) ifr 
(4) llqj 
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27. Ajay is brother of Rakesh, Seema 

is sister of Ashok, Rakesh is son of 

Seema. How is Ajay related to 

Seema ? 

(1) Son 

(2) Father 

(3) Brother 

(4) Husband 

  
27. vt; jkds’k dk HkkbZ gS] lhek v’kksd dh 

cgu gS] jkds’k] lhek dk csVk gSA vt; 
lhek ls dSls lacaf/kr gS \ 
 

(1) iq= 

(2) firk 

(3) HkkbZ 

(4) ifr 

Direction (Q. 28 & 29) 

Read the following information and 

answer the questions given below. 

(a) P + Q means ‘P is daughter of Q’ 

(b) P × Q means ‘P is the son of Q’ 

(c) P – Q means ‘P is the wife of Q’ 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 28    ,oa ,oa ,oa ,oa 29½½½½    

fuEufyf[kr tkudkjh i<+sa vkSj uhps fn, x, iz’uksa 
ds mÙkj nsaA 

(a) P + Q dk vFkZ gS P, Q dh csVh gS 

(b) P × Q dk vFkZ gS P, Q dk csVk gS 

(c) P – Q dk vFkZ gS P, Q dh iRuh gS 

28. For A – B × C – D which of the 

following option is not true ? 

(1) D is husband of C 

(2) B is daughter of C 

(3) A is wife of B 

(4) C is mother of B 

  
28. A – B × C – D ds fy, fuEu esa ls 

dkSu&lk fodYi lgh ughaughaughaugha gS \ 

(1) D, C dk ifr gS 

(2) B, C dh csVh gS 

(3) A, B dh iRuh gS 

(4) C, B dh ekrk gS 

29. For A × B – C which of the option 

is true ? 

(1) C is father of A 

(2) C is wife of B 

(3) A is daughter of B 

(4) None of these 

  
29. A × B – C ds fy, fuEu esa ls dkSu&lk 

fodYi lghlghlghlgh gS \ 

(1) C, A dk firk gS 

(2) C, B dh iRuh gS 

(3) A, B dh csVh gS 

(4) buesa ls dksbZ ugha 
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30. If cook is called ‘butler’, butler is 

called ‘manager’, manager is called 

‘teacher’, teacher is called ‘clerk’ 

and clerk is called ‘Headmaster’, 

who will teach in a class ? 

 

(1) Headmaster 

(2) Clerk 

(3) Teacher 

(4) Cook 

  
30. ;fn Cook dks butler dgk tkrk gS] 

butler dks ‘manager’ dgk tkrk gS] 
manager dks ‘teacher’ dgk tkrk gS] 
teacher dks ‘clerk’ dgk tkrk gS vkSj 
clerk dks ‘Headmaster’ dgk tkrk gS] 
rks d{kk esa dkSu i<+k,xk \ 
(1) Headmaster 

(2) Clerk 

(3) Teacher 

(4) Cook 

Direction (Q. 31 & 32) 

Study the following number sequence and 

answer the questions are given below. 

514 739 857 263 158 638 522 43 496 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 31    ,oa,oa,oa,oa    32½½½½    
fuEufyf[kr la[;k vuqØe dk v/;;u djsa vkSj 
uhps fn, x, iz’uksa ds mÙkj nsaA 
514 739 857 263 158 638 522 43 496 

31. How many even number are in the 

sequence which are immediately 

preceded by an odd number but 

immediately followed by an even 

number ? 

(1) 2 (2) 3 

(3) 4 (4) 1 

  
31. fn, x, vuqØe esa fdruh le la[;k,¡ gS 

ftuds Bhd igys ,d fo"ke la[;k gS 
ysfdu rqjar ckn ,d le la[;k gS \ 
 
 
(1) 2 (2) 3 

(3) 4 (4) 1 

32. How many odd numbers are there 

in the given sequence which are 

immediately preceded and also 

immediately followed by an even 

number ?  

(1) 3 (2) 1 

(3) 4 (4) 2 

  
32. fn, x, vuqØe esa fdruh fo"ke la[;k,¡ gSa 

ftuds Bhd igys vkSj ckn esa ,d le 
la[;k gS \ 
 
 
(1) 3 (2) 1 

(3) 4 (4) 2 

33. Aman’s rank sixth from the top 

and twenty seventh from the 

bottom in a class. How many 

students are there in the class ? 

(1) 32 (2) 34 

(3) 31 (4) 30 

  
33. d{kk esa veu dk LFkku Åij ls 6ok¡ rFkk 

uhps ls 27ok¡ gS] rks d{kk esa dqy fdrus 
Nk= gSa \ 
 
(1) 32 (2) 34 

(3) 31 (4) 30 
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34. If day after tomorrow is Friday, 

what day was three days before 

yesterday ? 

(1) Sunday  

(2) Friday 

(3) Thursday   

(4) Saturday 

  
34. ;fn vkus okys dy ds ckn dk fnu 'kqØokj 

gS] rks chrk gqvk dy ls rhu fnu igys 
D;k fnu Fkk \ 

(1) jfookj  

(2) 'kqØokj 

(3) c̀gLifrokj  

(4) 'kfuokj 

35. If ÷  means ×, × means +, + means 

– and – means ÷, find the value of 

18 × 3 + 4 – 2 ÷ 4 : 

(1) 13  

(2) 10 

(3) 19  

(4) 9 

  
35. ;fn ÷ dk vFkZ ×] × dk vFkZ $] $ dk 

vFkZ – vkSj – dk vFkZ ÷ ekuk tk,] rks 
18 × 3 + 4 – 2 ÷ 4 dk eku Kkr dhft, % 
(1) 13  

(2) 10 

(3) 19  

(4) 9 

36. If the clock is 12 : 05 when viewed 

in a mirror, then what is the real 

time in the clock ? 

(1) 11 : 05  

(2) 10 : 55 

(3) 11 : 55  

(4) 10 : 05 

  
36. ;fn ,d niZ.k esa ns[kus ij ?kM+h esa 12 

ctdj 5 feuV gq, gSa] rks ?kM+h esa 
okLrfod le; D;k gS \ 
(1) 11 : 05  

(2) 10 : 55 

(3) 11 : 55  

(4) 10 : 05 

Direction : (Q. 37 to 42) 

All the faces of wooden cube with 8 cm 

length are painted in the same colour. 

This cube has been cut into small cubes 

with a 2 cm length. Answer the following 

questions. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 37    ls ls ls ls 42½½½½    
8 lseh0 Hkqtk okys ydM+h ds ,d ?ku dh lHkh 
lrg ,d leku jax esa jaxh xbZ gSaA bl ?ku dks 
2 lseh0 Hkqtk okys NksVs ?kuksa esa dkVk x;k gSA 
fuEufyf[kr iz’uksa ds mÙkj nhft,A 

37. How many small cubes are to be 

cutted out ? 

(1) 4 (2) 8 

(3) 64 (4) 32 

  
37. dqy fdrus NksVs ?ku dkVs x, \ 

 
(1) 4 (2) 8 

(3) 64 (4) 32 
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38. How many times that cube is 

cutted out ? 

(1) Four times 

(2) Eight times 

(3) Nine  times 

(4) Twelve times 

  
38. ?ku dks fdruh ckj dkVk x;k \ 

 
(1) pkj ckj 
(2) vkB ckj 
(3) ukS ckj 
(4) ckjg ckj 

39. How many small cubes will be 

whose only one face is coloured ? 

(1) 12  

(2) 24 

(3) 8  

(4) 32 

  
39. ,sls fdrus NksVs ?ku izkIr gksaxs ftudh dsoy 

,d lrg jaxh gks \ 
(1) 12  

(2) 24 

(3) 8  

(4) 32 

40. How many small cubes will be 

whose no face is coloured ? 

(1) 8  

(2) 12 

(3) 32  

(4) 16 

  
40. ,sls fdrus NksVs ?ku izkIr gksaxs ftudh dksbZ 

Hkh lrg jaxh gqbZ ughaughaughaugha gSa \ 
(1) 8  

(2) 12 

(3) 32  

(4) 16 

41. How many small cubes will be 

whose two faces are coloured ? 

(1) 24  

(2) 8 

(3) 12  

(4) 32 

  
41. ,sls fdrus NksVs ?ku izkIr gksaxs ftudh nks 

lrg jaxh gks \ 
(1) 24  

(2) 8 

(3) 12  

(4) 32 

42. How many small cubes will be 

whose three faces are coloured ? 

(1) 12  

(2) 16 

(3) 24  

(4) 8 

  
42. ,sls fdrus NksVs ?ku izkIr gksaxs ftudh rhu 

lrg jaxh gks \ 
(1) 12  

(2) 16 

(3) 24  

(4) 8 
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Direction : (Q. 43 to 47) 

There are given seven Logical Diagrams 

(a, b, c, d, e, f, and g). Select one which 

best illustrates the relationship among 

three classes in each of the following 

question : 

43. Sun, Moon, Stars 

(1) a (2) e

(3) d (4) c 

44. Boy, Student, Girl 

(1) b (2) g

(3) d (4) c 

45. Scalene Triangles, T

equilateral Triangles 

(1) f (2) a

(3) g (4) e

46. Stationery, Paper, Ink

(1) b (2) g

(3) f (4) d

47. Tie, Shirt, Trauser 

(1) e (2) c 

(3) d (4) g

( 13 ) 

 

There are given seven Logical Diagrams 

Select one which 

best illustrates the relationship among 

three classes in each of the following 

 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 43    ls ls ls ls 4
lkr rdZ laxr fp= (a, b, c, d, e, f,
fn, x, gSaA fuEufyf[kr esa ls izR;sd iz’u esa rhu 
oxksZa ds chp laca/k n’kkZus okyk loZJs
 
 

e 

 

  
43. lw;Z] pUnzek] rkjs

(1) a 

(3) d 

g 

 

  
44. yM+dk] fo|kFkhZ] yM+dh

(1) b 

(3) d 

Scalene Triangles, Triangles, 

 

a 

e 

  
45. fo"keckgq f=Hkqt] f=Hkqt] lef}ckgq f=Hkqt

 
(1) f 

(3) g 

Stationery, Paper, Ink 

g 

d 

  
46. ys[ku&lkexzh] dkxt] L;kgh

(1) b 

(3) f 

 

g 

  
47. VkbZ] deht] irywu

(1) e 

(3) d 

A 

P. T. O. 

47½½½½    
(a, b, c, d, e, f, vkSj g) 

fn, x, gSaA fuEufyf[kr esa ls izR;sd iz’u esa rhu 
oxksZa ds chp laca/k n’kkZus okyk loZJs"B pqusa % 

 

lw;Z] pUnzek] rkjs 
(2) e 

(4) c 

yM+dk] fo|kFkhZ] yM+dh 
(2) g 

(4) c 

keckgq f=Hkqt] f=Hkqt] lef}ckgq f=Hkqt 

(2) a 

(4) e 

ys[ku&lkexzh] dkxt] L;kgh 
(2) g 

(4) d 

VkbZ] deht] irywu 
(2) c 

(4) g 
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Direction : (Q. 48 to 52) 

In the following Questions, answers are 

based on the diagram given below, 

where the circle represents teachers, the 

triangle represents doctors, the 

rectangle represents players.

48. Which number represents players 

who are neither teachers nor 

doctors ? 

(1) 10 (2) 8

(3) 6 (4) 5

49. Which number represents teacher 

who are also players and doctors ?

(1) 7  

(2) 10 

(3) 5  

(4) 9 

50. Which number represents 

teachers who are players but 

doctors ? 

(1) 10  

(2) 7 

(3) 8  

(4) 9 

( 14 ) 

 

In the following Questions, answers are 

based on the diagram given below, 

where the circle represents teachers, the 

triangle represents doctors, the 

rectangle represents players. 

 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 48    ls ls ls ls 5
fuEufyf[kr iz’uksa esa] mÙkj uhps fn
ij vk/kkfjr gSa tgk¡ òÙk f’k{kdksa dk izfrfuf/kRo 
djrk gS] f=Hkqt MkWDVjksa dk izfrfuf/kRo djrk gS 
vkSj vk;r f[kykfM+;ksa dk izfrfuf/kRo djrk gSA

 

Which number represents players 

who are neither teachers nor 

8 

5 

  
48. dkSu&lh la[;k f[kykM+h dk izfrfuf/kRo 

djrh gS] tks u rk
MkWDVj gS \ 
(1) 10 

(3) 6 

Which number represents teacher 

who are also players and doctors ? 

  
49. dkSu&lh la[;k v/;kid 

djrh gS] tks f[kykM+h vkSj MkWDVj Hkh gS

(1) 7 

(2) 10 

(3) 5 

(4) 9 

Which number represents 

teachers who are players but not 

  
50. dkSu&lh la[;k v/;kid dk izfrfuf/kRo 

djrh gS] tks f[kykM+h gS ijUrq MkWDVj 
gS \ 

(1) 10 

(2) 7 

(3) 8 

(4) 9 

v/;kid 

 

52½½½½    
fuEufyf[kr iz’uksa esa] mÙkj uhps fn, x, vkjs[k 

o`Ùk f’k{kdksa dk izfrfuf/kRo 
djrk gS] f=Hkqt MkWDVjksa dk izfrfuf/kRo djrk gS 
vkSj vk;r f[kykfM+;ksa dk izfrfuf/kRo djrk gSA 

 

dkSu&lh la[;k f[kykM+h dk izfrfuf/kRo 
djrh gS] tks u rks v/;kid gS vkSj u gh 

(2) 8 

(4) 5 

dkSu&lh la[;k v/;kid dk izfrfuf/kRo 
djrh gS] tks f[kykM+h vkSj MkWDVj Hkh gS \ 

 

 

lh la[;k v/;kid dk izfrfuf/kRo 
djrh gS] tks f[kykM+h gS ijUrq MkWDVj ughaughaughaugha 

 

 

f[kykM+h 

 MkWDVj 
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51. Which number represents doctors 

who are teachers but not

(1) 7  

(2) 8 

(3) 9  

(4) 5 

52. Which number represents doctors 

who are neither players nor 

teachers ? 

(1) 6  

(2) 9 

(3) 8  

(4) 5 

Direction : (Q. 53 to 55) 

The figure (x) is folded to form a box 

choose from the given alternatives 

3 and 4 the box that are similar to the 

box formed. 

53. 

 

(1)  (2) 

(3)  (4) 

 

( 15 ) 

 

Which number represents doctors 

not players ? 

  
51. dkSu&lh la[;k MkWDVj dk izfrfuf/kRo djrh 

gS] tks v/;kid gS ijUrq f[kykM+h 

(1) 7 

(2) 8 

(3) 9 

(4) 5 

Which number represents doctors 

who are neither players nor 

  
52. dkSu&lh la[;k MkWDVj dk izfrf/kRo djrh 

gS] tks u rks f[kykM+h gS vkSj u gh 
v/;kid gS \ 

(1) 6 

(2) 9 

(3) 8 

(4) 5 

The figure (x) is folded to form a box 

choose from the given alternatives - 1, 2, 

3 and 4 the box that are similar to the 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 53    ls ls ls ls 5
fp= (x) fMCck cukus ds fy, eksM+k x;k gSS fn, 
x, fodYiksa - 1, 2, 3 
¼fMCck½ pqusa tks cuk;s x, fMCcs ds le:i gksA

 

 

  
53. 

 

(1)  

(3)  

A 

P. T. O. 

lh la[;k MkWDVj dk izfrfuf/kRo djrh 
gS] tks v/;kid gS ijUrq f[kykM+h ughaughaughaugha gS \ 

 

 

dkSu&lh la[;k MkWDVj dk izfrf/kRo djrh 
tks u rks f[kykM+h gS vkSj u gh 

 

 

55½½½½    
fMCck cukus ds fy, eksM+k x;k gSS fn, 

 vkSj 4 esa ls ,slk fodYi 
¼fMCck½ pqusa tks cuk;s x, fMCcs ds le:i gksA 

 (2)  

 (4)  
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54. 

 

(1)    

(2)  

(3)   

(4)  

55. 

 

(1)   

(2)  

(3)   

(4)  

4 
1 

3 
2 

( 16 ) 

 

  
 

54. 

(1) 

(2) 

(3) 

(4) 

  
55. 

 

(1) 

(2) 

(3) 

(4) 

4 
1 

3 
2 
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Direction : (Q. 56 to 58) 

The three different position of a dice are 

given below. Select the suitable answer 

of the following question. 

 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 56    ls ls ls ls 58½½½½    
,d iklk dh rhu vyx&vyx fLFkfr uhps nh xbZ 
gSA fuEufyf[kr iz’uksa ds mi;qDr mÙkj dk p;u 
djsaA 

 

56. Which number is on the face 

opposite 4 ? 

(1) 1 (2) 2 

(3) 5 (4) 6 

  
56. 4 ds foijhr lrg ij dkSu&lh la[;k gS \ 

 

(1) 1 (2) 2 

(3) 5 (4) 6 

57. Which number is on the face 

opposite 6 ? 

(1) 1 (2) 3 

(3) 5 (4) 4 

  
57. 6 ds foijhr lrg ij dkSu&lh la[;k gS \ 

 

(1) 1 (2) 3 

(3) 5 (4) 4 

58. Which number is on the face 

opposite 5 ? 

(1) 1 (2) 2 

(3) 3 (4) 4 

  
58. 5 ds foijhr lrg ij dkSu&lh la[;k gS \ 

 

(1) 1 (2) 2 

(3) 3 (4) 4 

Direction : (Q. 59 to 62) 

In each of the following questions the 

first two words have a common 

relationship. Choose one word out of the 

given four alternatives, which will 

replace the question mark (?), having 

same relationship with the third, the 

pairs are given as following : 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 59    ls ls ls ls 62½½½½    
fuEufyf[kr izR;sd iz’u esa igys nks 'kCn fdlh u 
fdlh rjg ls ,d nwljs ls lacaf/kr gSaA fn, x, 
pkj fodYiksa esa ls ,d ,slk 'kCn pqus tks 
iz’uokpd fpg~u ¼\½ ds LFkku ij vk ldrk gS 
vkSj rhljs 'kCn ls ogh leku laca/k gksA tksM+s bl 
izdkj fn, gSa % 

59. Earth : Sun : : Moon : ? 

(1) Star (2) Earth 

(3) Orbit (4) Sky 

  
59. i`Foh % lw;Z % % pUnzek % \ 

(1) rkjs (2) i`Foh 
(3) d{kk (4) vkdk’k 
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60. Calendar : Dates : : Dictionary : ? 

(1) Words  

(2) Language 

(3) Vocabulary   

(4) Book 

  
60. dSysaMj % frfFk % % 'kCndks’k % \ 

(1) 'kCn  

(2) Hkk"kk 

(3) 'kCnkoyh  

(4) iqLrd 

61. Circle : Circumference : : Square : ? 

(1) Perimeter   

(2) Area 

(3) Diagonal   

(4) Volume 

  
61. òÙk % ifjf/k % % oxZ % \ 

(1) ifjeki  

(2) {ks=Qy 

(3) fod.kZ  

(4) vk;ru 

62. Mother : Child : : Cloud : ? 

(1) Water  

(2) Rain 

(3) Weather  

(4) Thunder 

  
62. ekrk % cPpk % % ckny % \ 

(1) ikuh  

(2) o"kkZ 

(3) ekSle  

(4) fctyh 

63. A clock is so placed that at 12 noon 

its minute hand points towards 

east-south. In which direction does 

its hour hand at 10 : 30 pm ?  

(1) South 

(2) North-West 

(3) North-East 

(4) East 

  
63. ,d ?kM+h dks bl rjg j[kk tkrk gS fd 

nksigj 12 cts bldh feuV dh lwbZ 

iwoZ&nf{k.k dh vksj gks] bldh ?k.Vs dh lwbZ 

jkr 10 : 30 cts fdl fn’kk esa gS \ 

(1) nf{k.k 

(2) mÙkj&if’pe 

(3) mÙkj&iwoZ 

(4) iwoZ 
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64. Rohan walks a distance of 5 km 

towards North, then turn to his 

left and walk for 3 km. He again 

turn left and walk for 5 km. At 

this point he turns to his left and 

walk 5 km. How many kilometers 

is he from the starting point ? 

(1) 1 km  

(2) 5 km 

(3) 3 km  

(4) 2 km 

  
64. jksgu mÙkj dh vksj 5 fdyksehVj dh nwjh 

r; djrk gS] fQj viuh ckbZa vksj eqM+rk gS 
vkSj 3 fdyksehVj rd pyrk gSA og fQj ls 
ck,¡ eqM+rk gS vkSj 5 fdyksehVj rd pyrk 
gSA bl fcanq ij og viuh ckbZa vksj eqM+rk 
gS vkSj 5 fdyksehVj pyrk gSA og izkjfEHkd 
fcanq ls fdrus fdyksehVj nwj gS \ 
(1) 1 fdyksehVj  
(2) 5 fdyksehVj 
(3) 3 fdyksehVj  
(4) 2 fdyksehVj 

Direction : (Q. 65 to 67) 

In the following questions there are 

statements followed by conclusions. 

Choose the conclusion(s) which must 

logically follow from the given 

statements. 

(1) If only conclusion I follows 

(2) If only conclusion II follows 

(3) If neither conclusion I nor II follows 

(4) If both conclusions I and II follows 

  funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 65    ls ls ls ls 67½½½½    
fuEufyf[kr iz’uksa esa] dFku ds ckn fu"d"kZ gSaA 
fu"d"kZ dk p;u djsa] tks fn, x, dFkuksa ls 
rkfdZd :i ls vuqlj.k djasA  
 
(1) ;fn dsoy fu"d"kZ I vuqlj.k djrk gS 
(2) ;fn dsoy fu"d"kZ II vuqlj.k djrk gS 
(3) ;fn u rks fu"d"kZ I vkSj u gh II vuqlj.k 

djrk gS 
(4) ;fn fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSa 

65. Statements : All pens are books. 

All book are pencils. 

Conclusions : I. All pencils are pens. 

II. Some pencils are pens. 

  
65. dFku %dFku %dFku %dFku % lHkh isu fdrkcsa gSaA 

lHkh fdrkcsa isafly gSaA 
fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ % I. lHkh isafly isu gSaA 
II. dqN isafly isu gSaA 

66. Statements :  All cars are buses. 

Some buses are chairs. 

Conclusions : I. Some chairs are cars. 

II. All buses are chairs. 

  
66. dFku %dFku %dFku %dFku % lHkh dkjsa clsa gSaA 

dqN clsa dqlhZ gSaA 
fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ % I. dqN dqflZ;k¡ dkj gSaA 
II. lHkh clas dqflZ;k¡ gSaA 

67. Statements : Some hens are cows. 

All cows are horses. 

Conclusions : I. Some horses are hens. 

II. Some hens are horses. 

  
67. dFku % dFku % dFku % dFku % dqN eqfxZ;k¡ xk; gSaA 

lHkh xk; ?kksM+s gSaA 
fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ % I. dqN ?kksM+sa eqfxZ;k¡ gSaA 
II. dqN eqfxZ;k¡ ?kksM+sa gSaA 

Downloaded from cclchapter.in



A  ( 20 ) 

NMMS–2020   

68. Count the number of cubes in the 

given figure. 

 

(1) 80  

(2) 89 

(3) 91  

(4) 88 

  
68. fn, x, fp= esa ?kuksa dh la[;k dh x.kuk 

djsaA 

 
(1) 80  

(2) 89 

(3) 91  

(4) 88 

69. If (i) A is taller than B 

(ii) C is shorter than A 

(iii) D is taller than E but shorter 

than B, who is the tallest among 

them ? 

(1) A  

(2) B 

(3) E  

(4) C 

  69. ;fn (i) A, B ls yack gS 
(ii) C, A ls NksVk gS 
(iii) D, E ls yack gS ysfdu B ls NksVk gS] 
buesa ls lcls yack dkSu gS \ 
 

(1) A  

(2) B 

(3) E  

(4) C 

70. How many squares in the given 

figure ? 

 

(1) 10  

(2) 9 

(3) 7  

(4) 8 

  
70. nh xbZ vkd`fr esa oxksZa dh la[;k fdruh 

gSa \ 

 

(1) 10  

(2) 9 

(3) 7  

(4) 8 
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Direction : (Q. 71 & 72) 

Figure A, B, C and D constitute the 

problem set while figure 1, 2, 3 and 4 

constitute the answer set. There is a 

definite relationship between figures A 

and B. Establish a similar relationship 

between figure C and D by choosing a 

suitable figure (D) from the answer set.

71. Problems Figures  

72. Problems Figures  

( 21 ) 

 

Figure A, B, C and D constitute the 

problem set while figure 1, 2, 3 and 4 

constitute the answer set. There is a 

definite relationship between figures A 

and B. Establish a similar relationship 

between figure C and D by choosing a 

suitable figure (D) from the answer set. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 71    ,oa,oa,oa,oa    

fp= A, B, C vkSj D

djrk gS tcfd fp= 1, 2, 3

lewg dks dk;e djrs gSaA fp= 

fuf’pr :i ls ,d laca/k gS] mÙkj lewg esa ls 

mi;qDr fp= (D) dk 

leku fp= C vkSj D eas lEca/k LFkkfir djsaA

 

  
71. leL;k fp= 

 

  
72. leL;k fp= 

A 

P. T. O. 

    72½½½½    

D leL;k lewg dks LFkkfir 

1, 2, 3 vkSj 4 feydj mÙkj 

lewg dks dk;e djrs gSaA fp= A vkSj B eas 

fuf’pr :i ls ,d laca/k gS] mÙkj lewg esa ls 

 p;u djrs gq, mUgha ds 

eas lEca/k LFkkfir djsaA 
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Direction : (Q. 73 & 74) 

Choose the correct water image of the 

figure (X) from the options given along 

with it. 

73. 

 

(1)   

(2) 

 

(3)   

(4)  

74. 

( 22 ) 

 

Choose the correct water image of the 

from the options given along 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 73    ,oa,oa,oa,oa    

blds lkFk fn, x, fodYiksa esa ls vkd`fr 
lgh ty izfrfcEc pqusaA 

  
73. 

 

(1) 

(2) 

(3) 

(4) 

 

  

74. 

 

    74½½½½    

blds lkFk fn, x, fodYiksa esa ls vkd`fr (X) dk 
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Direction : (Q. 75 & 76) 

There is given a figure (X)

four figure 1, 2, 3 and 4 such that 

embedded in one of them. Trace out the 

correct alternatives. 

75. 

 

(1)  

(2)  

(3)  

(4)  

76. 

 

(1)  (2) 

(3)  (4) 

( 23 ) 

 

) followed by 

four figure 1, 2, 3 and 4 such that (X) is 

embedded in one of them. Trace out the 

  funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 75    ,oa,oa,oa,oa    
fn;k gqvk ,d fp= (X)

4 esa ls ,d dk ifj.kke gSA tks fd buesa
esa fufgr gSA mi;qDr fodYi dh igpku djsaA

  
75. 

 

(1) 

(2)  

(3) 

(4)  

 

 

  

76. 

 

(1) 

(3)  

A 

P. T. O. 

    76½½½½    
) pkj fp=ksa 1, 2, 3 vkSj 

esa ls ,d dk ifj.kke gSA tks fd buesa ls fdlh 
esa fufgr gSA mi;qDr fodYi dh igpku djsaA 

 

 

 

 

 (2)  

 (4)  
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Direction : (Q. 77 & 78) 

In the following questions, choose a 

figure from among the four alternatives 

which when placed in question mark (?) 

space of figure (X) would complete the 

pattern. 

77. 

 

(1)   

(2)  

(3)   

(4)  

78. 

 

(1)   

(2) 
 

(3)   

(4)  

( 24 ) 

 

In the following questions, choose a 

figure from among the four alternatives 

which when placed in question mark (?) 

would complete the 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 77    ,oa ,oa ,oa ,oa 
fuEufyf[kr iz’uksa esa] pkj fodYiksa esa ls ,d 
vkd`fr pqusa] ftls tc vkd`fr 
¼\½ LFkku ij j[kk tk, rks iSVuZ iwjk gks tk,xkA

  

77. 

 

(1)  

(2)  

(3)  

(4)  

  

78. 

 

(1)  

(2) 
 

(3)  

(4)  

 

,oa ,oa ,oa ,oa 78½½½½    
fuEufyf[kr iz’uksa esa] pkj fodYiksa esa ls ,d 
vkd`fr pqusa] ftls tc vkd`fr (X) ds iz’u fpg~u 
½ LFkku ij j[kk tk, rks iSVuZ iwjk gks tk,xkA 
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Direction : (Q. 79 & 80) 

In the following questions, from amongst 

the figures marked (1), (2), (3) and (4) 

choose the figure which satisfies the 

same condition of placement of the dot(s) 

as in figure (X). 

79. 

 

(1)   

(2)  

(3)   

(4)  

80. 

 

(1)  (2) 

(3)  (4) 

( 25 ) 

 

In the following questions, from amongst 

the figures marked (1), (2), (3) and (4) 

choose the figure which satisfies the 

same condition of placement of the dot(s) 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 79    ,oa ,oa ,oa ,oa 
fuEufyf[kr iz’uksa esa] vkd`fr;ksa 
(4) esa ls og vkd`fr pqusa] 
fLFkfr dks larq"V djrk gS tSlk fd vkd`fr 
gSA 

  

79. 

 

(1) 

(2) 

(3) 

(4) 

 

 

  

80. 

 

(1)  

(3)  

A 

P. T. O. 

,oa ,oa ,oa ,oa 80½½½½    
fuEufyf[kr iz’uksa esa] vkd`fr;ksa (1), (2), (3) vkSj 

esa ls og vkd`fr pqusa] tks fcanq yxkus dh mlh 
V djrk gS tSlk fd vkd`fr (X) esa 

  

 

  

 

 (2)  

 (4)  
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Direction (Q. 81 to 87) 

In these questions, a series is given with 

one term missing. Choose the correct 

alternative from the given ones that will 

complete the series. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 81    ls ls ls ls 87½½½½    
bu iz’uksa esa ,d Ük`a[kyk nh xbZ gS ftlesa ,d in 
yqIr gSA fn, x, fodYiksa esa ls og fodYi pqfu, 
tks Ük`a[kyk dks iwjk djrk gksA 

81. 8, ?, 64, 125, 216 

(1) 36  

(2) 9 

(3) 4  

(4) 27 

  
81. 8, ?, 64, 125, 216 

(1) 36  

(2) 9 

(3) 4  

(4) 27 

82. 17, 22, 26, 29, 31, ? 

(1) 33  

(2) 32 

(3) 34  

(4) 35 

  
82. 17, 22, 26, 29, 31, ? 

(1) 33  

(2) 32 

(3) 34  

(4) 35 

83. 11, 13, 17, ?, 23 

(1) 18  

(2) 21 

(3) 19  

(4) 20 

  
83. 11, 13, 17, ?, 23 

(1) 18  

(2) 21 

(3) 19  

(4) 20 

84. 11, 14, ?, 20, 23 

(1) 15  

(2) 19 

(3) 18  

(4) 17 

  
84. 11, 14, ?, 20, 23 

(1) 15  

(2) 19 

(3) 18  

(4) 17 

85. 4, 9, 16, ?, 36 

(1) 20  

(2) 25 

(3) 22  

(4) 23 

  
85. 4, 9, 16, ?, 36 

(1) 20  

(2) 25 

(3) 22  

(4) 23 
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86. 3, 20, 8, 15, 13, 10, ? 

(1) 18  

(2) 15 

(3) 20  

(4) 25 

  
86. 3, 20, 8, 15, 13, 10, ? 

(1) 18  

(2) 15 

(3) 20  

(4) 25 

87. 1, 5, 10, 17, ?, 37 

(1) 25  

(2) 26 

(3) 36  

(4) 20 

  
87. 1, 5, 10, 17, ?, 37 

(1) 25  

(2) 26 

(3) 36  

(4) 20 

88. If the word ‘CAT’ can be written as 

‘XZG’ then how can the word ‘FOX’  

be written in that code ? 

(1) GPY 

(2) XOF 

(3) HQA 

(4) ULC 

  
88. ;fn ‘CAT’ 'kCn dks ‘XZG’ fy[kk tkrk gS] 

rks ‘FOX’ dks blh dksM esa fdl izdkj 
fy[kk tk ldrk gS \ 
(1) GPY 

(2) XOF 

(3) HQA 

(4) ULC 

89. In the numbers from 100 to 1000, 

how many times digit 9 comes at 

the ten’s place ? 

(1) 9 (2) 10 

(3) 80 (4) 90 

  
89. 100 ls 1000 dh la[;kvksa esa ngkbZ ds 

LFkku ij vad 9 fdruh ckj vkrk gS \ 
 

(1) 9 (2) 10 

(3) 80 (4) 90 

90. If the word ‘PUNJAB’ can be 

written as ‘QTOIBA’ then how can 

the word ‘SIKKIM’ be written in 

that code ? 

(1) TJLLJN 

(2) MIKKIS 

(3) THLJJL 

(4) TKNOMR 

  
90. ;fn ‘PUNJAB’ 'kCn dks ‘QTOIBA’ 

fy[kk tkrk gS] rks ‘SIKKIM’ dks blh 
dksM esa fdl izdkj fy[kk tk ldrk gS \ 
 
(1) TJLLJN 

(2) MIKKIS 

(3) THLJJL 

(4) TKNOMR 
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PART – II ¼¼¼¼HkkxHkkxHkkxHkkx – II½½½½ 
SCHOLASTIC APTITUDE TEST 

'kSf{kd {kerk 'kSf{kd {kerk 'kSf{kd {kerk 'kSf{kd {kerk ijh{k.kijh{k.kijh{k.kijh{k.k 
  Questions : 91 to 180                Time : 1½ Hours 

91. Which of the following description 

is true for describing ‘fertilizer’ ? 

(1) Used in large quantity 

(2) Organic in nature  

(3) Dose not cause pollution 

(4) Produce in factories 

  91. ^moZjd dks of.kZr djus ds fy, fuEufyf[kr 
esa ls dkSu&lk o.kZu lghlghlghlgh gS \ 
(1) cM+h ek=k esa mi;ksx fd;k tkrk gS 
(2) tSfod izd`fr ds gksrs gS 
(3) iznw"k.k dk dkj.k ugha gS 
(4) dkj[kkuksa esa mRikfnr gksrs gSa 

92. What refers to the State’s effort to 

influence a particular matter  in 

accordance with the principles of 

the constitution ?  

(1) Intervene  (2) Coercion 

(3) Meditation  (4) Decision 

  
92. lafo/kku ds fl}karksa ds vuqlkj fdlh fo’ks"k 

ekeys dks izHkkfor djus ds fy, jkT; ds 
iz;kl dks D;k dgrs gSa \ 
 
(1) gLr{ksi (2) tcjnLrh 
(3) /;ku (4) QSlyk 

93. If (–3)m+1 × (–3)5 = (–3)7, then the 

value of m is : 

(1) 5 (2) 7 

(3) 1 (4) 3 

  
93. ;fn (–3)m+1 × (–3)5 = (–3)7, rks m dk 

eku gksxk % 
(1) 5 (2) 7 

(3) 1 (4) 3 

94. How many seats were won by BJP 

in Lok Sabha election 2019 ? 

(1) 285 (2) 300 

(3) 303 (4) 313 

  
94. yksdlHkk pquko 2019 esa chtsih us fdruh 

lhVsa thrh \ 

(1) 285 (2) 300 

(3) 303 (4) 313 

95. A chain of small chemical units 

combined to form a large single 

unit is called ............... . 

(1) Polymer  

(2) Poly  

(3) Polythene 

(4) None of the above 

  
95. ,d cM+h ,dy bdkbZ cukus ds fy, la;qDr 

NksVh jklk;fud bdkb;ksa dh ,d Ük`a[kyk dks 
------- dgk tkrk gSA 
(1) ikWfyej 
(2) ikWyh 
(3) ikWfyFkhu 
(4) mijksDr esa ls dksbZ ugha 
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96. Spontaneous/Auto ignition is 

possible in which substance ? 

(1) Patrol (2) LPG 

(3) CNG (4) Phosphorous 

  96. Lor% ngu fdl inkFkZ esa laHko gS \ 
 
(1) iSVªksy (2) ,yihth 
(3) lh,uth (4) QkWLQksjl 

97. On which day night and day are 

equal on the whole earth ? 

(1) 21 March and 23 September 

(2) 21 June and 22 December 

(3) 25 March and 23 September 

(4) 25 June and 22 December 

  
97. fdl fnu iwjh i`Foh ij jkr o fnu cjkcj 

gksrs gSa \ 
(1) 21 ekpZ o 23 flrEcj 
(2) 21 twu o 22 fnlacj 
(3) 25 ekpZ o 23 flrEcj 
(4) 25 twu o 22 fnlacj 

98. PET is a : 

(1) Nylon  (2) Polyester  

(3) Rayon  (4) Acrylic 

  98. isV (PET) ,d ----------------- gSA 
(1) ukbykWu (2) ikWfy,LVj 
(3) js;kWu (4) ,sfØfyd 

99. Reason of Global Warming is 

increasing level of .............. . 

(1) Oxygen  

(2) Carbon dioxide 

(3) Water vaporurs 

(4) Dust particles 

  
99. Xykscy okfeZax dk dkj.k gS ----------- dh 

c<+rh ek=kA 
(1) vkWDlhtu 
(2) dkcZu MkbvkWDlkbM 
(3) tyok"i 
(4) /kwy d.k 

100. Who devised Mahalwari system in 

1922 ? 

(1) Robart Mills  

(2) Corn wille 

(3) Holt Mackenzie  

(4) Waren Hastings 

  
100. fdlus 1922 esa egkyokjh iz.kkyh rS;kj 

dh \ 
(1) jkcVZ feYl us 
(2) dkuZfoy us 
(3) gksYV eSdsath us 
(4) okjsu gsfLVaXl us 

101. (x–y) (x+y) + (y–z) (y+z) + (z–x) (z+x) 

is equal to : 

(1) 0 

(2) x2+y2+z2 

(3) xy+yz+zx 

(4) x+y+z 

  
101. (x–y) (x+y) + (y–z) (y+z) + (z–x) (z+x)  

cjkcj gS % 
(1) 0 

(2) x2+y2+z2 

(3) xy+yz+zx 

(4) x+y+z 
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102. Naphthalene balls used to repel 

moth and insect is derived from

 

(1) Petroleum  (2) Sugar

(3) Coaltar (4) LPG

103. A graph that displays data that 

charges continuously over periods 

of time is called : 

(1) Bar graph  

(2) Pie chart 

(3) Histo graph  

(4) Line graph 

104. When a copper vessel is exposed to 

moist air for long, it acquires a 

dull green coating. 

material of : 

(1) Copper oxide and copper 

nitrate 

(2) Copper  hydroxide

carbonate  

(3) Copper carbonate and copper

sulphate 

(4) Copper hydroxide and copper

nitrate 

105. What is the difference between the 

central angles, for sector B and 

sector C ? 

(1) 36º (2) 72

(3) 9º (4) 81

( 30 ) 

 

Naphthalene balls used to repel 

moth and insect is derived from : 

Sugar 

LPG 

  
102. usQFkyhu xksfy;ksa dk mi;ksx dhVksa dks 

Hkxkus ds fy, fd
gSa % 
(1) isVªksfy;e ls
(3) dksyrkj ls 

A graph that displays data that 

charges continuously over periods 

  
103. ,d xzkQ tks yxkrkj le; ds lkFk cnyko 

dks fn[kkrk gS] dgykrk gS 
 
(1) ckj xzkQ 
(2) ikbZ pkVZ 
(3) fgLVksxzkQ 
(4) jSf[kd xzkQ 

When a copper vessel is exposed to 

moist air for long, it acquires a 

dull green coating. The green 

oxide and copper 

Copper  hydroxide & copper 

Copper carbonate and copper 

Copper hydroxide and copper 

  
104. tc ,d rkacs ds crZu dks yacs le; rd 

ue gok ds laidZ esa j[kk tkrk
gYdh gjh ijr ls <d 
dk feJ.k gS % 
(1) dkWij vkWDlkbM vkSj dkWij ukbVªsV

 
(2) dkWij gkbMªkWDlkbM vkSj dkWij dkcksZusV

 
(3) dkWij dkcksZusV vkSj dkWij lYQsV

 
(4) dkWij gkbMªkWDlkbM vkSj dkWij ukbVªsV

What is the difference between the 

sector B and 

 

72º 

81º 

  
105. [k.M B vkSj [k.M 

dks.k dk vUrj D;k gS 
 

(1) 36º 

(3) 9º 

 

usQFkyhu xksfy;ksa dk mi;ksx dhVksa dks 
Hkxkus ds fy, fd;k tkrk gS tks cukbZ tkrh 

isVªksfy;e ls (2) phuh ls 
 (4) ,y-ih-th- ls 

,d xzkQ tks yxkrkj le; ds lkFk cnyko 
dks fn[kkrk gS] dgykrk gS % 

 

  

tc ,d rkacs ds crZu dks yacs le; rd 
ue gok ds laidZ esa j[kk tkrk gS] rks 
gYdh gjh ijr ls <d tkrk gSA gjk inkFkZ 

dkWij vkWDlkbM vkSj dkWij ukbVªsV 

dkWij gkbMªkWDlkbM vkSj dkWij dkcksZusV 

dkWij dkcksZusV vkSj dkWij lYQsV 

dkWij gkbMªkWDlkbM vkSj dkWij ukbVªsV 

vkSj [k.M C ds chp dsUnzh; 
dks.k dk vUrj D;k gS \ 

 
(2) 72º 

(4) 81º 
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106. The latitudinal expansion of the 

mainland  of India is :

(1) 8º4'N to 47º6'N 

(2) 8º7'N to 57º5'N 

(3) 8º4'N to 37º6'N 

(4) 8º4'N to 35º6'N 

107. A chemical process in which a 

substance reacts with oxygen to 

give off heat is called ................. 

(1) Conduction (2) Conjunction

(3) Combustion (4) Confusion

108. Since metals produce ringing 

sound, they are said to be

(1) Sound metal  

(2) Sonorous  

(3) Ring metal   

(4) Malleable 

109. Some medicines obt

micro-organisms are applied to kill 

or stop the growth of

causing microorganisms

medicines are called ............... 

(1) Antibodies 

(2) Antibiotics 

(3) Antiseptics 

(4) All of the above 

110. The area of trapezium is

(1) 9 cm2 (2) 6

(3) 7 cm2 (4) 24

( 31 ) 

 

The latitudinal expansion of the 

: 

  106. Hkkjr dh eq[; Hkwfe dk v{kka’kh; foLrkj 
gS % 
(1) 8º4' m0 v{kka’k ls
(2) 8º7' m0 v{kka’k ls
(3) 8º4' m0 v{kka’k ls
(4) 8º4' m0 v{kka’k ls

A chemical process in which a 

substance reacts with oxygen to 

................. . 

Conjunction 

Confusion 

  
107. ,d jklk;fud izfØ;k ftlesa ,d inkFkZ 

vkWDlhtu ds lkFk izfrfØ;k djds ÅtkZ dks 
NksM+rk gS--------
(1) pkyu 
(3) ngu 

Since metals produce ringing 

sound, they are said to be ............ . 

  
108. pw¡fd /kkrq,¡ ctkus ij /ofu;k¡ mRiUu djrh 

gSa] blfy, mUgsa 
(1) /ofu /kkrq 
(2) lksuksjl 
(3) fjax esVy 
(4) yphyk 

Some medicines obtained from 

organisms are applied to kill 

or stop the growth of disease 

causing microorganisms. Such 

............... . 

  109. lw{e thoksa ls izkIr dqN nok,¡
dkj.k gksus okyh fcekfj;ksa ds fodkl dks 
ekjus ;k jksdus ds fy, ykxw dh tkrh gSA 
,slh nokvksa dks 
gSA 
(1) ,aVhckWMh 
(2) ,aVhck;ksfVDl
(3) ,aVhlsfIVDl 
(4) mijksDr lHkh

The area of trapezium is : 

 
6 cm2 

24 cm2 

  
110. leyEc dk {ks=Qy gS 

(1) 9 cm2 

(3) 7 cm2 

A 

P. T. O. 

Hkkjr dh eq[; Hkwfe dk v{kka’kh; foLrkj 

v{kka’k ls 47º6' m0 v{kka’k 
v{kka’k ls 57º5' m0 v{kka’k 
v{kka’k ls 37º6' m0 v{kka’k 
v{kka’k ls 35º6' m0 v{kka’k 

,d jklk;fud izfØ;k ftlesa ,d inkFkZ 
vkWDlhtu ds lkFk izfrfØ;k djds ÅtkZ dks 

-------- dgykrh gSA 
(2) la;kstu 
(4) Hkze 

pw¡fd /kkrq,¡ ctkus ij /ofu;k¡ mRiUu djrh 
 ------------ dgk tkrk gSA 
  

  

lw{e thoksa ls izkIr dqN nok,¡ lq{ethoksa ds 
dkj.k gksus okyh fcekfj;ksa ds fodkl dks 
ekjus ;k jksdus ds fy, ykxw dh tkrh gSA 
,slh nokvksa dks -------------- dgk tkrk 

,aVhck;ksfVDl 
 

mijksDr lHkh 

leyEc dk {ks=Qy gS % 

 
(2) 6 cm2 

(4) 24 cm2 
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111. During a cell division : 

(1) Nucleus divides first and then 

cytoplasm 

(2) Cytoplasm divides first and 

then Nucleus 

(3) Nucleus and cytoplasm divides 

together 

(4) No such relationship 

  
111. ,d dksf’kdk foHkktu ds nkSjku % 

(1) dsanzd igys ;k fQj dksf’kdk nzO; 
foHkkftr gksrk gSA 

(2) dksf’kdk nzO; igys vkSj fQj dsanzd 
foHkkftr gksrk gSA 

(3) dsanzd vkSj dksf’kdk nzO; ,d lkFk 
foHkkftr gksrs gSA 

(4) buesa ,slk dksbZ laca/k ugha gSA 

112. Hen’s egg is : 

(1) An organ 

(2) A single cell  

(3) A tissue  

(4) None of the above 

  
112. eqxhZ dk vaMk gS % 

(1) ,d vax 
(2) ,d ,dy dksf’kdk 
(3) ,d Ård 
(4) mijksDr esa ls dksbZ ugha  

113. The angle sum of a convex polygon 

with number of sides 7 is : 

(1) 900º 

(2) 1080º 

(3) 1440º 

(4) 720º 

  
113. ,d mÙky cgqHkqt ftldh 7 Hkqtk,¡ gSa muds 

dks.kksa dk tksM+ gksxk % 
(1) 900º 

(2) 1080º 

(3) 1440º 

(4) 720º 

114. Find the value of A, B in the 

following : 

0

2

1

B

B

A

+  

(1) 6, 9 (2) 6, 6  

(3) 9, 6 (4) 9, 9 

  
114. fuEu esa A, B dk eku D;k gksxk \ 

 

0

2

1

B

B

A

+  

(1) 6, 9 (2) 6, 6  

(3) 9, 6 (4) 9, 9 

115. The factorisation of ab–a–b+1 is : 

(1) (a–1) (b–1) 

(2) (a+1)(b+1) 

(3) (a–1) (b+1) 

(4) (a+1) (b–1) 

  
115. ab–a–b+1 dk xq.ku[k.M gS % 

(1) (a–1) (b–1) 

(2) (a+1)(b+1) 

(3) (a–1) (b+1) 

(4) (a+1) (b–1) 
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116. A horse eat 18 kg of maize corn in 

12 days, how much does he eat in 

9 days ? 

(1) 11.5 kg (2) 12.5 kg  

(3) 13.5 kg  (4) 14.5 kg 

  116. ,d /kksM+k 12 fnu esa 18 fdxzk eDdk [kkrk 
gS] og 9 fnu esa fdruk [kk,xk % 
 
(1) 11.5 fdxzk (2) 12.5 fdxzk 
(3) 13.5 fdxzk (4) 14.5 fdxzk 

117. 53 × 5–1 is equal to : 

(1) 5 (2) 53 

(3) 5–1 (4) 52 

  
117. 53 × 5–1 cjkcj gS % 

(1) 5 (2) 53 

(3) 5–1 (4) 52 

118. 1cm3 = 

(1) 1000 mm3 

(2) 100 mm3 

(3) 10 mm3 

(4) 1/1000 mm3 

  
118. 1 lseh3 = 

(1) 1000 feeh3 

(2) 100 feeh3 

(3) 10 feeh3 

(4) 1/1000 feeh3 

119. What is the value of 5x25 – 3x32 + 

2x–12 at x = 1 ? 

(1) 0 (2) 2   

(3) 4 (4) 1 

  
119. 5x25 – 3x32 + 2x–12  dk eku D;k gksxk 

;fn x = 1 gks rks \ 
(1) 0 (2) 2   

(3) 4 (4) 1 

120. The ratio 4 : 25 converted to 

percentage is : 

(1) 8% (2) 4% 

(3) 16%  (4) 25% 

  
120. vuqikr 4 : 25 dk izfr’kr gksxk % 

 
(1) 8% (2) 4% 

(3) 16%  (4) 25% 

121. The one’s digit of the cube of the 

number 123 is : 

(1) 3 (2) 6 

(3) 9 (4) 7 

  
121. 123 ds ?ku dh bdkbZ dh la[;k gksxh % 

 
(1) 3 (2) 6 

(3) 9 (4) 7 

122. The square of which of the 

following numbers will be even ? 

11, 111, 1111, 112 

(1) 11 (2) 111 

(3) 1111 (4) 112 

  
122. buesa ls fdl la[;k dk oxZ ,d le la[;k 

gksxh \ 
11, 111, 1111, 112 

(1) 11 (2) 111 

(3) 1111 (4) 112 
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123. The diagonals of a square are 

…………. each other. 

(1) Equal to 

(2) Unequal 

(3) Perpendicular bisector  

(4) None of the above 

  
123. ,d oxZ ds fod.kZ ,d nwljs ds ----------- 

gksrs gSaA 
(1) cjkcj 
(2) vleku 
(3) yEclef}Hkktd 
(4) mijksDr esa ls dksbZ ugha 

124. How many corners does a 

triangular pyramid have ? 

(1) 1 (2) 2 

(3) 3 (4) 4 

  
124. ,d f=Hkqtkdkj fijkfeM ds fdrus dksus gksrs 

gSa \ 
(1) 1 (2) 2 

(3) 3 (4) 4 

125. Of the following, the linear 

equation in one variable x is : 

(1) 
4

4 x

x
=  

(2) 1
1

11
=

−

+

xx
 

(3) 
4

1

32
++

xx
 

(4) x2 + 2x + 5 = 0 

  
125. fuEu esa ls ,d pj x okyh jSf[kd 

lehdj.k gS % 

(1) 
4

4 x

x
=  

(2) 1
1

11
=

−

+

xx
 

(3) 
4

1

32
++

xx
 

(4) x2 + 2x + 5 = 0 

126. Variety of organisms existing on 
the earth, their interrelationships 
and their relationship with the 

environment is called : 

(1) Diversity  

(2) Biosphere 

(3) Biology  

(4) Biodiversity 

  
126. i`Foh ij ekStwn thoksa dh fofo/krk] muds 

vkilh laca/k vkSj muds i;kZoj.k ds lkFk 
laca/k dks dgk tkrk gS % 
(1) fofo/krk  
(2) ck;ksLQh;j 
(3) tho foKku  
(4) tSo fofo/krk 

127. Which of the following is the cube 

root of –64/243 ? 

(1) 
4

7
 (2) 

4

7−
 

(3) 
7

4
 (4) 

7

4−
 

  
127. –64/243 dk ?kuewy D;k gksxk \ 

 

(1) 
4

7
 (2) 

4

7−
 

(3) 
7

4
 (4) 

7

4−  
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128. Larynx is also called as ............... . 

 

(1) Voice box 

(2) Sound box 

(3) Black box 

(4) All of the above 

  
128. xyk ¼ySfjaDl½ dks ---------------- Hkh dgk 

tkrk gSA 
(1) Loj ;a= 
(2) /ofu ;a= 
(3) CySd ckWDl 
(4) mijksDr lHkh 

129. When a sperm containing Y 

chromosome fertilizes an egg with 

X chromosome, the zygote 

develops into a ............... child. 

(1) Female 

(2) Either a male or female  

(3) Male  

(4) No child 

  
129. tc Y xq.klw= okyk ,d 'kqØk.kq X xq.klw= 

okys ,d vaMs dks fu"ksfpr djrk gS] rks 
;qXeut ,d ------------ cPps esa fodflr 
gksrk gSA 

(1) efgyk 

(2) ;k rks ,d iq#"k ;k efgyk 

(3) iq#"k 

(4) dksbZ cPpk ugha 

130. If an article sold for Rs. 100, then 

there is a gain of Rs. 20, which of 

the following is gain percent ? 

(1) 25% (2) 22%  

(3) 20% (4) 16% 

  
130. ;fn fdlh oLrq dks #0 100 esa cspk x;k 

vkSj #i;s 20 dk ykHk gqvk] rks ykHk 
izfr’kr buesa ls D;k gksxk \ 
(1) 25% (2) 22%  

(3) 20% (4) 16% 

131. The metal found in liquid state is : 

(1) Iron   

(2) Gold  

(3) Aluminium  

(4) Mercury 

  
131. rjy voLFkk esa ikbZ tkus okyh /kkrq gS % 

(1) yksgk  
(2) lksuk 
(3) ,syqfefu;e  
(4) ikjk 

132. The buzzing sound of mosquitoes 

comes from : 

(1) Mouth 

(2) Beating of wings 

(3) Vocal cord 

(4) Tounge 

  132. ePNj ds fHkufHkukus dh vkokt iSnk gksrh 
gS % 
(1) eq¡g ls  
(2) ia[kksa ds QM+QM+kus ls 
(3) Loj jTtq ls  
(4) thHk ls 
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133. Aman throws four stones having in 

the same weight on four different 

surfaces. The surfaces are icy, dry, 

sandy and cemented. He throws 

each stone with the same force. On 

which of the given surface will the 

stone go the maximum distance 

before it stops ? 

(1) Cemented surface

(2) Sandy surface 

(3) Dry surface 

(4) Icy surface 

134. Look at the figure and give answer

what is the total amount of force 

acting on object ‘A’ ? 

(1) 27 N (2) 0

(3) 3 N (4) 15

135. Where Petroleum Refinery exists 

in Haryana ? 

(1) Panipat  

(2) Hisar  

(3) Rohtak  

(4) Panchkula 

136. Which sound waves are used in 

monitoring of earth quakes

(1) Infrasonic 

(2) Ultrasonic  

(3) Supersonic 

(4) None of these 

( 36 ) 

 

Aman throws four stones having in 

the same weight on four different 

surfaces. The surfaces are icy, dry, 

sandy and cemented. He throws 

each stone with the same force. On 

which of the given surface will the 

stone go the maximum distance 

Cemented surface 

  
133. veu leku Hkkj okys 

izdkj gh lrg ij Qsadrk gSa ;s pkj lrg 
Øe’k% cQhZyh] lw[kh] 
gSaA og izR;sd iRFkj dks leku cy yxkdj 
Qsadrk gS rks crkb, fdl lrg ij iRFkj] 
#dus ls igys vf/kdre nwjh r; djsxk 
 

(1) lhesaV dh lrg
(2) jsrhyh lrg
(3) lw[kh lrg 
(4) cQhZyh lrg

Look at the figure and give answer : 

 

total amount of force 

0 N 

15 N 

  134. fp= dks ns[kas vkSj mÙkj nsa %

oLrq ‘A’ ij yxus okys dqy cy dh ek=k 
D;k gS \ 
(1) 27 N 

(3) 3 N 

etroleum Refinery exists 
  

135. gfj;k.kk esa isVªksfy;e ifj
dgk¡ gS \ 
(1) ikuhir 
(2) fglkj 
(3) jksgrd 
(4) iapdqyk 

Which sound waves are used in 

monitoring of earth quakes ? 

  
136. HkwdEi dh fuxjkuh ds fy, dkSu

dk iz;ksx fd;k tkrk gS 
(1) voJO; 
(2) ijkJO; 
(3) ijk/ofud@lqijlks
(4) buesa ls dksbZ ugha

 

veu leku Hkkj okys 4 iRFkj pkj vyx 
izdkj gh lrg ij Qsadrk gSa ;s pkj lrg 
Øe’k% cQhZyh] lw[kh] jsrhyh ,oa lhesaV dh 
gSaA og izR;sd iRFkj dks leku cy yxkdj 
Qsadrk gS rks crkb, fdl lrg ij iRFkj] 
dus ls igys vf/kdre nwjh r; djsxk \ 

lhesaV dh lrg 
jsrhyh lrg 

 
cQhZyh lrg 

fp= dks ns[kas vkSj mÙkj nsa % 

 

yxus okys dqy cy dh ek=k 

(2) 0 N 

(4) 15 N 

gfj;k.kk esa isVªksfy;e ifj"dj.kh ¼fjQkbujh½ 

 

 

HkwdEi dh fuxjkuh ds fy, dkSu&lh /ofu 
dk iz;ksx fd;k tkrk gS \ 

ijk/ofud@lqijlksfud 
buesa ls dksbZ ugha 
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137. Aluminium and iron are both 

metals. But Aluminium is preferred 

as the leaves of an electroscope. The 

reason is : 

(1) Iron is a poor couductor of 

electricity 

(2) Aluminium is lighter than Iron 

(3) Aluminium is more conductive 

than Iron 

(4) None of the above 

  
137. ,syqfefu;e vkSj vk;ju ¼yksgk½ nksuksa gh 

/kkrq gSa ijUrq fo|qrn’khZ dh ifÙk;k¡ cukus ds 
fy, ,syqfefu;e /kkrq dks izkFkfedrk nh 
tkrh gS D;ksafd % 
(1) vk;ju fo|qr dk vPNk lqpkyd ugha 

gS 
(2) ,syqfefu;e vk;ju ls gYdk gksrk gS 
(3) ,syqfefu;e vk;ju ls vPNk lqpkyd 

gS 
(4) mijksDr esa ls dksbZ ugha 

138. Polythene and PVC are examples 

of : 

(1) Rayon  

(2) Biodegradable substance 

(3) Thermosetting plastics 

(4) Thermoplastics 

  
138. ikWfyFkhu vkSj ih-oh-lh- mnkgj.k gSa % 

 
(1) js;kWu dk 
(2) tSofuEuuh; inkFkZ dk 
(3) FkeksZlsfVax IykfLVd dk 
(4) FkeksZIykfLVd dk 

139. In a cycling race, it is observed 

that a cyclist normally bends his 

body forward. The cyclist bends in 

order to : 

(1) Feel comfortable 

(2) Reduce his weight  

(3) Reduce the air drag  

(4) Increase energy consumption 

  139. lkbZfdy nkSM+ esa lkbZfdy lokj vkerkSj ij 
vius 'kjhj dks vkxs dh rjQ >qdk ysrs 
gSaA lkbZfdy lokj >qd tkrs gSa D;ksafd % 
 
(1) lqfo/kk eglwl djrs gSa 
(2) vius Hkkj dks de djrs gSa 
(3) ok;q vojks/k dks de djrs gSa 
(4) ÅtkZ [kir dks c<+krs gSa 

140. Aditi needs a strong electrolyte. 

Which of the following would be 

the most suitable for her ? 

(1) Sulphuric acid 

(2) Nitric acid 

(3) Tap water 

(4) Ascetic acid 

  
140. vfnrh dks ,d izcy fo|qr vi?kV~; dh 

vko’;drk gSA fuEu esa ls mlds fy, 
dkSu&lk mi;qDr gksxk \ 
(1) lY¶;wfjd vEy 
(2) ukbfVªd vEy 
(3) uy dk ikuh 
(4) fljdk ¼,flfVd½ vEy 

Downloaded from cclchapter.in



A  

NMMS–2020 

141. Look at the given fig. Find the 

angle between incident ray and 

reflected ray : 

(1) 65º (2) 130º

(3) 90º (4) 25º

142. Which substance is used in making 

modern safety match boxes ?

(1) Phosphorous 

(2) Antimony trisulfide

(3) Potassium chlorate

(4) Both (2) and (3)  

143. Which is the hottest planet of the 

solar system? 

(1) Mercury  (2) Mars

(3) Earth  (4) Venus

144. Which of the following gas

obtained from natural gas is used 

in urea formation ? 

(1) Oxygen 

(2) Nitrogen  

(3) Hydrogen  

(4) Chlorine 

145. Heavy trucks have broad tyres

(1) To reduce the pressure

(2) To increase the pressure

(3) To decrease the friction

(4) To balance the truck on road

( 38 ) 

 

Look at the given fig. Find the 

angle between incident ray and 

 
130º 

25º 

  141. fn, x, fp=kuqlkj vkifrr fdj.k vkSj 
ijkofrZr fdj.k 
gksxk % 

(1) 65º 

(3) 90º 

Which substance is used in making 

modern safety match boxes ? 

sulfide 

Potassium chlorate 

  
142. fujkin ekfpl esa iz;qDr gksrk gS

 
(1) QkWLQksjl 
(2) ,safVeuh VªkblYQkbM
(3) iksVSf’k;e DyksjsV
(4) (2) vkSj (3)

Which is the hottest planet of the 

Mars 

Venus 

  143. fuEu esa ls lkSj eaMy dk lokZf/kd xeZ xzg 
dkSu&lk gS \ 
(1) cq/k 
(3) i`Foh 

Which of the following gas 

obtained from natural gas is used 

  
144. izkd`frd xSl ls izkIr

mi;ksx ;wfj;k fuekZ.k esa fd;k tkrk gS
 
(1) vkWDlhtu 
(2) ukbVªkstu 
(3) gkbMªkstu 
(4) Dyksjhu 

Heavy trucks have broad tyres : 

To reduce the pressure 

To increase the pressure 

To decrease the friction 

To balance the truck on road 

  145. Hkkjh Vªd ds ifg;sa pkSM+s cuk;s tkrs gSa 
(1) nkc dks de djus ds fy,
(2) nkc dks c<+kus ds fy,
(3) ?k"kZ.k dks ?kV
(4) Vªd dk larqyu cukus ds fy,

 

fn, x, fp=kuqlkj vkifrr fdj.k vkSj 
ijkofrZr fdj.k ds e/; cus dks.k dk eku 

 
(2) 130º 

(4) 25º 

fujkin ekfpl esa iz;qDr gksrk gS % 

,safVeuh VªkblYQkbM 
iksVSf’k;e DyksjsV 

(3) nksuksa 

fuEu esa ls lkSj eaMy dk lokZf/kd xeZ xzg 

(2) eaxy 
(4) 'kqØ 

izkd`frd xSl ls izkIr-------------- xSl dk 
mi;ksx ;wfj;k fuekZ.k esa fd;k tkrk gSA 

Hkkjh Vªd ds ifg;sa pkSM+s cuk;s tkrs gSa % 
nkc dks de djus ds fy, 
nkc dks c<+kus ds fy, 

?kVkus ds fy, 
Vªd dk larqyu cukus ds fy, 
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146. The frequency of incident light is 

3 × 1018 Hz. The frequency after 

reflection will : 

(1) Increase   

(2) Decrease  

(3) Remain same   

(4) Double 

  
146. vkifrr izdk’k dh vko`fr 3 × 1018 Hz 

gSA ijkoZru ds ckn izdk’k dh vko`fr % 
 
(1) c<+ tkrh gS 
(2) ?kV tkrh gS 
(3) leku jgrh gS 
(4) nksxquh gks tkrh gS 

147. The unit of calorific value is : 

(1) KJ 

(2) J (joule) 

(3) KJ/g 

(4) KJ/Kg or J/ KG 

  
147. Å"eh; eku dk lgh ek=d gS % 

(1) KJ 

(2) J (twy) 
(3) KJ /g 

(4) KJ /Kg ;k J/ KG 

148. Magnesium hydroxide is found in : 

(1) Milk of magnesia 

(2) Magnesium hydroxide 

(3) Magnesium ribbon 

(4) Magnesium chloride 

  
148. eSXuhf’k;e gkbMªkWDlkbM ik;k tkrk gS % 

(1) feYd vkWQ eSXuhf’k;k 
(2) eSXuhf’k;e gkbMªkWDlkbM 
(3) eSXuhf’k;e fjcu 
(4) eSXuhf’k;e DyksjkbM 

149. Black gold is actually : 

(1) Diamond 

(2) Petroleum 

(3) Gold which become black on 

burning 

(4) Gold sold in black market 

  
149. okLro esa dkyk lksuk fdls dgrs gSa \ 

(1) ghjk 
(2) iSVªksfy;e 
(3) og lksuk tks tykus ij dkyk gks 

tk, 
(4) og lksuk tks dkys cktkj esa cspk tk, 

150. An object is vibrating with a 

frequency of 15 Hz. Which of the 

following is true ? 

(1) It does not produce sound 

(2) It produces sound which we 

can hear 

(3) It produce sound which we 

cannot hear 

(4) It produce which we can hear 

if we strain our ears 

  150. ,d oLrq 15 Hz dh vkd`fr ls daiu 
djrh gS] rks fuEu esa ls dkSu&lk dFku 
lR;lR;lR;lR; gksxk \ 
(1) ;g /ofu iSnk ugha djrh 
(2) ;g /ofu iSnk djrh gS ftls ge lqu 

ldrs gSa 
(3) ;g /ofu iSnk djrh gS ftls ge lqu 

ugha ldrs 
(4) ;g /ofu iSnk djrh gS ftls ge dkuksa 

ij tksj nsdj lqu ldrs gSa 
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151. The leader who went on hunger 

strike for Andhra Pradesh to protect 

the interest of Telgu Speaker is : 

(1) Chittaranjan Das 

(2) Potti Sri Ramulu 

(3) Krishna Menon 

(4) Swami Vivekanand 

  151. rsyxq Hkkf"k;ksa ds fgrksa dh j{kk ds fy, vka/kz 
izns’k ds fy, Hkw[k gM+rky ij x, usrk   
Fks % 
(1) fprjatu nkl 
(2) iksV~Vh Jh jkeqyq 
(3) d`".kk esuu 
(4) Lokeh foosdkuan 

152. Which of the following statement 

is not correct with reference to 

tides ?  

(1) The strong gravitational pull 
exerted by the Sun and the 
Moon on the Earth’s surface 

cause the tides. 

(2) On the full Moon and new 
Moon days, when the Sun, the 

Moon and the Earth are in the 

same line, the tides are lowest. 

(3) Tidal ebb helps in navigation. 

(4) High tides also help in fishing. 

  
152. Tokj&HkkVk ds lUnHkZ es fuEu esa ls dkSu&lk 

dFku lgh ughaughaughaugha  gS \ 
(1) lw;Z ,oa pUnzek ds 'kfDr’kkyh 

xq:Rokd"kZ.k cy ls Tokj&HkkVk vkrk 
gSA 

(2) iwf.kZek vkSj vekoL;k ds fnu tc lw;Z 
pUnzek vkSj i`Foh ,d lh/k esa gksrs gSa 
rks fuEu Tokj&HkkVk vkrk gSA 

(3) Tokj&HkkVk ukSlapkyu esa lgk;d gksrk 
gSA 

(4) mPp Tokj eNyh idM+us esa Hkh enn 
djrs gSaA 

153. Which of the following reserves are 

present in the Krishna- Godavari 

delta and Mumbai offshore areas ? 

(1) Coal  (2) Natural Gas 

(3) Petroleum  (4) Copper 

  153. d`".kk&xksnkojh MsYVk vkSj eqacbZ ds virVh; 
{ks=ksa esa fuEu esa ls fdlds HkaMkj ekStwn 
gSa \ 
(1) dks;yk (2) izkd`frd xSl 
(3) isVªksfy;e (4) rkack 

154. Match List-1 with List-2 : 

List-1 

(Name of Gas) 

List-2 

(Value in %) 

(a) Carbon dioxide (1) 0.93 

(b) Oxygen (2) 78 

(c) Nitrogen (3) 21 

(d) Argon (4) 0.03 

(1) (a) 4, (b) 3, (c) 2, (d) 1 

(2) (a) 4, (b) 2, (c) 1, (d) 3 

(3) (a) 1, (b) 3, (c) 2, (d) 4 

(4) (a) 3, (b) 4, (c) 2, (d) 1 

  154. lwphlwphlwphlwph-1 dks lwphlwphlwphlwph-2 ls lqesfyr dhft, % 
lwphlwphlwphlwph-1        

¼xSl dk uke½¼xSl dk uke½¼xSl dk uke½¼xSl dk uke½    
lwphlwphlwphlwph-2        

¼izfr'kr esa ek=k½¼izfr'kr esa ek=k½¼izfr'kr esa ek=k½¼izfr'kr esa ek=k½ 

(a) dkWcZu MkbZ vkWDlkbM (1) 0.93 

(b) vkWDlhtu (2) 78 

(c) ukbVªkstu (3) 21 

(d) vkxZu (4) 0.03 

(1) (a) 4, (b) 3, (c) 2, (d) 1 

(2) (a) 4, (b) 2, (c) 1, (d) 3 

(3) (a) 1, (b) 3, (c) 2, (d) 4 

(4) (a) 3, (b) 4, (c) 2, (d) 1 
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155. Which of the following is the 

decision taken by British to reform 

the Indian society ?  

(1) Law against the practice of sati 

(2) They encouraged the remarriage 

of widow 

(3) English education was actively 

promoted 

(4) All of the above 

  
155. bafM;u lkslk;Vh dks lq/kkjus ds fy, 

fczfV’kksa us dkSu&lk fu.kZ; fy;k \ 
 
(1) lrh izFkk ds f[kykQ dkuwu 
(2) mUgksaus fo/kok ds iqufoZokg dks 

izksRlkfgr fd;k 
(3) vaxzsth f’k{kk dks lfØ; :i ls c<+kok 

fn;k 
(4) mijksDr lHkh 

156. When was Ilbert Bill introduced ? 

(1) 1860 (2) 1878 

(3) 1883 (4) 1890 

  
156. bYcVZ fcy dks dc is’k fd;k x;k Fkk \ 

(1) 1860 (2) 1878 

(3) 1883 (4) 1890 

157. If the countries given below are 
arranged in descending order 
according to their population, then 
which sequence will be correct ? 

(1) India, China , Brazil, Pakistan 
Indonesia 

(2) China, India Indonesia, 
Pakistan, Brazil 

(3) China, India, Brazil, 
Indonesia, Pakistan 

(4) China, India, Pakistan, 
Indonesia, Brazil 

  
157. uhps fn, x, ns’kksa dks mudh tula[;k ds 

vuqlkj vojksgh Øe es yxk;k tk;s rks 
dkSu&lk Øe lghlghlghlgh gksxk \ 
(1) Hkkjr] phu] czkthy] ikfdLrku] 

baMksusf’k;k 
(2) phu] Hkkjr] baMksusf’k;k] ikfdLrku] 

czkthy 
(3) phu] Hkkjr] czkthy] baMksusf’k;k] 

ikfdLrku 
(4) phu] Hkkjr] ikfdLrku] baMksusf’k;k] 

czkthy 

158. According to whom ‘English 

education had enslaved Indians’ ? 

(1) Rabindranath Tagore 

(2) Mahatma Gandhi 

(3) Subbash Chandra Bose 

(4) Aacharya Vinoba Bhave 

  
158. fdlds vuqlkj vaxzsth f’k{kk us Hkkjrh;ksa dks 

xqyke cuk;k Fkk \ 
(1) jchUnzukFk VSxksj  
(2) egkRek xka/kh 
(3) lqHkk"k panz cksl 
(4) vkpk;Z fouksck Hkkos 

159. Dharavi, the largest slum of the 

world is situated in : 

(1) Calcutta (2) Chennai 

(3) Delhi (4) Mumbai 

  
159. /kkjkoh] nqfu;k dh lcls cM+h >qXxh dgk¡ 

fLFkr gS \ 
(1) dydÙkk esa (2) psUubZ esa 
(3) fnYyh esa (4) eqEcbZ esa 
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160. What kind of agriculture is done in 

the areas shaded in the map ?

(1) Shifting cultivation

(2) Nomadic herding  

(3) Intensive farming

(4) Mixed farming 

161. In dry areas, trees are planted 

queues to prevent wind speed

as to protect the soil cover. What 

are these queues of the trees 

called ? 

(1) Terrace farming 

(2) Contour barriers  

(3) Mulching  

(4) Shelter belts 

162. Which of the following is a water 

related disease ? 

(1) Plague (2) Eye

(3) Cholera  (4) Malaria

163. The term used for event in which 

large number of losses occurs to 

life and property : 

(1) Toxic  

(2) Poisonous 

(3) Disaster 

(4) Vulnerable 

( 42 ) 

 

What kind of agriculture is done in 

n the map ? 

 

Shifting cultivation 

 

Intensive farming 

  
160. ekufp= esa Nk;kafdr fd, x, {ks=ksa esa fdl 

izdkj dh d`f"k dh tkrh gS 

(1) LFkkukarfjr d`f
(2) pyoklh i’kqpkj.k
(3) xgu d`f"k 
(4) fefJr d`f"k 

, trees are planted in 

queues to prevent wind speed, so 

as to protect the soil cover. What 

are these queues of the trees 

 

  
161. 'kq"d izns’kksa esa iou dh xfr dks jksdus ds 

fy, ò{k drkjksa esa 
e`nk vkoj.k dks cpk;k tk ldsA o`{kksa dh 
bu drkjksa dks D;k dgk tkrk gS
 
(1) osfndk 
(2) leksPpjs[kh; jksf/kdk,¡
(3) efYapx 
(4) j{kd es[kyk

Which of the following is a water 

Eye-Flue 

Malaria 

  
162. fuEufyf[kr esa ls dkSu

chekjh gS \ 
(1) Iysx 
(3) gStk 

The term used for event in which 

large number of losses occurs to 

  
163. ?kVuk ds fy, bLrseky fd;k tkus okyk 

'kCn ftlesa cM+h la[;k esa 
dh gkfu gksrh gS %
(1) fo"kkDr 
(2) tgjhyk 
(3) vkink 
(4) detksj 

 

afdr fd, x, {ks=ksa esa fdl 
"k dh tkrh gS \ 

 
LFkkukarfjr d`f"k  
pyoklh i’kqpkj.k 

d izns’kksa esa iou dh xfr dks jksdus ds 
fy, ò{k drkjksa esa yxk, tkrs gSa] rkfd 
e`nk vkoj.k dks cpk;k tk ldsA ò{kksa dh 
bu drkjksa dks D;k dgk tkrk gS \ 

leksPpjs[kh; jksf/kdk,¡ 

j{kd es[kyk 

fuEufyf[kr esa ls dkSu&lh ikuh ls lacaf/kr 

(2) vkbZ&¶yw 
(4) eysfj;k 

ds fy, bLrseky fd;k tkus okyk 
kCn ftlesa cM+h la[;k esa tku vkSj eky 
dh gkfu gksrh gS % 
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164. A person who does not get 

adequate nutrition or food is 

known as : 

(1) Nourished  

(2) Malnourished  

(3) Well-nourished  

(4) All of these 

  
164. ,d O;fDr ftls i;kZIr iks"k.k ;k Hkkstu 

ugha feyrk gS mls fuEu ds :i es tkuk 
tkrk gS \ 

(1) iksf"kr 

(2) dqiksf"kr 

(3) vPNh rjg ls iksf"kr 

(4) mijksDr lHkh 

165. Which region does not have 

Mediterranean vegetation ? 

(1) South West Africa 

(2) Southeastern United States 

America 

(3) Southwestern South America 

(4) Southwestern Australia 

  
165. fdl {ks= es Hkwe/; lkxjh; ouLifr ughaughaughaugha 

ik;h tkrh \ 

(1) nf{k.k&if’pe vÝhdk 

(2) nf{k.k&iwohZ la;qDr jkT; vesfjdk 
 

(3) nf{k.k&if’peh nf{k.k vesfjdk 

(4) nf{k.k&if’peh vkWLVªsfy;k 

166. Which of the following option is 

correct with respect to the major 

industrial regions  of the world ? 

(1) Northeast America, Western 

and Central Europe, Eastern 

Europe, East Asia 

(2) Northeast America, Central 

Asia, South America, East 

Asia 

(3) Northeast America, Africa, 

South America, East Asia 

(4) Northeast America, Western 

and Central Europe, South 

America, Southern Asia  

  
166. fo’o ds izeq[k vkS|ksfxd izns’k ds lUnHkZ esa 

fuEu esa ls dkSu&lk fodYi lghlghlghlgh gS \ 
 

(1) iwoksZrj vesfjdk] if’peh vkSj e/; 
;wjksi] iwohZ ;wjksi] iwohZ ,f’k;k 
 

(2) iwoksZÙkj vesfjdk] e/; ,f’k;k] nf{k.kh 
vesfjdk] iwohZ ,f’k;k 
 

(3) iwoksZÙkj vesfjdk] vÝhdk] nf{k.kh 
vesfjdk] iwohZ ,f’k;k 
 

(4) iwoksZÙkj vesfjdk] if’peh vkSj e/; 
;wjksi] nf{k.kh vesfjdk] nf{k.kh ,f’k;k 
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167. The money spent to purchase new 

machine or building for gaining 

profits in future is called : 

(1) Investment 

(2) Expenditure  

(3) Losses 

(4) Production 

  
167. Hkfo"; esa ykHk izkIr djus ds fy, ubZ 

e’khu ;k Hkou [kjhnus ds fy, [kpZ fd;k 
x;k /ku dgykrk gS % 
(1) fuos’k 
(2) O;; 
(3) gkfu 
(4) mRiknu 

168. What do you understand by 

manual Scavenging ? 

(1) Work of scavenging by 

machine 

(2) Work of scavenging by hand 

(3) Work of scavenging by power 

(4) All of these 

  
168. eSuqvy LdSosaftax ls vki D;k le>rs gSa \ 

 
(1) e’khu }kjk eSyk <ksus dk dke 
 
(2) gkFk ls eSyk <ksus dk dke 
(3) fctyh }kjk eSyk <ksus dk dke 
(4) mijksDr lHkh 

169. How many Indians formed the 

constituent Assembly ? 

(1) One hundred 

(2) Two hundred 

(3) Three hundred 

(4) Four hundred 

  
169. fdrus Hkkjrh;ksa us lafo/kku lHkk dk xBu 

fd;k \ 
(1) lkS 
(2) nks lkS 
(3) rhu lkS 
(4) pkj lkS 

170. What type of mineral is Mica ? 

(1) Ferrous metallic 

(2) Non-ferrous metallic  

(3) Non-metallic  

(4) None of the above 

  
170. vHkzzd fdl izdkj dk [kfut gS \ 

(1) ykSg /kkfRod 
(2) vykSg /kkfRod 
(3) v/kkfRod 
(4) mijksDr esa ls dksbZ ugha 

171. Which place in India had one of 

the finest ores in the world ? 

(1) Raniganj 

(2) Jharia 

(3) Rajhara Hills 

(4) Aravali Hills 

  
171. Hkkjr esa dkSu&lk LFkku nqfu;k ds lcls 

csgrjhu v;Ldksa esa ls ,d Fkk \ 
(1) jkuhxat 
(2) >fj;k 
(3) jktgkjk fgYl 
(4) vjkoyh fgYl 
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172. The idea of widow remarriage was 

advocated by ? 

(1) Dayanand Saraswati 

(2) Jyotirao Phule 

(3) Periyar 

(4) Pandita Ramabai 

  
172. fo/kok iqufoZokg ds fopkj dh odkyr 

fdlus dh Fkh \ 
(1) n;kuan ljLorh  
(2) T;ksfrjko Qqys 
(3) isfj;kj 
(4) iafMrk jekckbZ 

173. When did Delhi become the capital 

of British India ? 

(1) 1900 (2) 1905 

(3) 1911 (4) 1915 

  
173. fnYyh fczfV’k Hkkjr dh jkt/kkuh dc 

cuh \ 
(1) 1900 (2) 1905 

(3) 1911 (4) 1915 

174. The Indian sepoys  were angry 

with Bartish because : 

(1) of their into lerating behaviour 

(2) of their cartridge episode 

(3) of their policy of divide and 

rule 

(4) all of the above 

  
174. Hkkjrh; flikgh dh vaxzstksa ls ukjktxh Fkh 

D;ksafd % 
(1) muds vlfg".kq O;ogkj ds dkj.k 
(2) mudh dkjrwl izdj.k uhfr ds dkj.k 
(3) mudh foHkktu vkSj jkt djks uhfr ds 

dkj.k 
(4) mijksDr lHkh 

175. Which is the Article of 

Constitution that states that 

untouchability has been 

abolished ? 

(1) Article 16 

(2) Article 18 

(3) Article 28 

(4) Article 17 

  
175. lafo/kku dk dkSu&lk vuqPNsn gS ftlesa 

dgk x;k fd vLi`’;rk dks lekIr dj 
fn;k x;k gS \ 
 
(1) vuqPNsn 16 
(2) vuqPNsn 18 
(3) vuqPNsn 28 
(4) vuqPNsn 17 

176. Who gave the order to shoot in 

Jallianwala Bagh on innocent 

people protesting calmly ?  

(1) Dr. Satyapal 

(2) General Dyer 

(3) Dr. Saifuddin Kichlew  

(4) Robert Clive 

  
176. 'kkafr ls fojks/k dj jgs funksZ"k yksxksa ij 

tfy;k¡okyk ckx esa xksyh pykus dk vkns’k 
fdlus fn;k \ 
(1) Mk0 lR;iky 
(2) tujy Mk;j 
(3) Mk0 lSQwn~nhu fdpyw 
(4) jkcVZ Dykbo 
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177. Who was the Afro-American 

woman who refused to give her 

seat to a white man in 1955 ? 

(1) Rosy Petter 

(2) Rosa Parks 

(3) Rosy Mary 

(4) Rose Jose 

  
177. 1955 esa ,d xksjs vkneh dks viuh lhV 

nsus ls badkj djus okyh vÝks&vesfjdh 
efgyk dkSu Fkh \ 
(1) jkst+h ihVj 
(2) jkstk ikDlZ 
(3) jkst+h esjh 
(4) jkst+ tksl 

178. Due to high temperature and 

pressure limestone is converted 

into the rock ? 

(1) Slate  

(2) Granite 

(3) Gneiss  

(4) Marble 

  
178. mPp rki o nkc ds dkj.k pwuk iRFkj fdl 

'kSy esa ifjofrZr gks tkrk gS \ 
 

(1) LysV  

(2) xzsukbV 

(3) uhl  

(4) laxejej 

179. What is the type of the advocate 

who pleads the cases on behalf of 

the government and who has been 

appointed by the government on 

permanent basis ? 

(1) Public Prosecutor 

(2) Private Prosecutor 

(3) Deed writer 

(4) Typist 

  
179. ljdkj dh vksj ls ekeyksa dh iSjoh djus 

okys vf/koDrk dk izdkj D;k gS vkSj 
ljdkj }kjk LFkk;h vk/kkj ij fdls fu;qDr 
fd;k x;k gS \ 
 

(1) ljdkjh odhy 

(2) futh vfHk;kstd 

(3) vthZuohl 

(4) VkbfiLV 

180. How many countries of the world 

joined the conference of Bandung 

in Indonesia ? 

(1) 29 countries 

(2) Less than 20 countries 

(3) More than 100 countries 

(4) 100 countries 

  
180. baMksusf’k;k esa ckaMaqx ds lEesyu esa fo’o ds 

fdrus ns’k 'kkfey gq, \ 
 
(1) 29 ns’k 
(2) 20 ls de ns’k 
(3) 100 ls vf/kd ns’k 
(4) 100 ns’k 

 

Downloaded from cclchapter.in



   

6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy 
IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd uhps fn[kk;k 
x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given 
by darkening complete circle using Black ball point pen as 
shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as 
given below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

7. jQ dk;Z iz'u iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh 
txg ij gh djsaA 

  7. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

8. lHkh mÙkj dsoy mÙkj i=d (OMR) ij gh vafdr djsaA vius 
mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd 
¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

  8. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

9. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, mÙkj i=d (OMR) ij dsoy ,d gh òÙk dks 
iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA ,d ckj mÙkj vafdr 
djus ds ckn mls cnyk ugha tk ldrk gSA 

  9. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed to 

be changed. 

10. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk,  
,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk 
vuqØekad mÙkj i=d esa fu/kkZfjr LFkku ds vfrfjDr vU;= u 
fy[ksaA 

  10. The candidates should ensure that the Answer Sheet is 

not folded. Do not make any stray mark on Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

11. iz'u iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd 
fdlh Hkh ifjfLFkfr esa ¼dsoy iz'u iqfLrdk ,oa mÙkj i=d ds 
Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk 
lSV miyC/k ugha djokbZ tk,xhA 

  11. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of Test 

Booklet will not be provided. 

12. iz'u iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh 
rjhds ls gkftjh i= esa fy[ksaA 

  12. The candidates will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds flok; fdlh 
izdkj dh ikB~; lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh 
vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr 
ugha gSA 

  13. Candidates are not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

14. fujh{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ 
¼jksy ua0½ fn[kk,¡A 

  14. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

15. dsUnz v/kh{kd ;k fujh{kd dh fo’ks"k vuqefr ds fcuk dksbZ 
vH;FkhZ viuk LFkku u NksMa+sA 

  15. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

16. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA   16. Use of Electronic/Manual Calculator is prohibited.  

17. fdlh gkyr esa iz'u iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx 
vyx u djsaA 

  17. No part of the Test Booklet and Answer Sheet shall be 

detached under any circumstances. 

18. ijh{kk lEiUu gksus ij] vH;FkhZ ijh{kk d{k@gkWy NksM+us ls iwoZ 
mÙkj i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius 
lkFk iz'u iqfLrdk dks ys tk ldrs gSaA 

  18. On completion of the test, candidate must hand over the 

Answer Sheet to the Invigilator in the Room/Hall. The 

candidates are allowed to take away this Test Booklet 

with them. 
 

� � 
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